





### ❖ Discriminant

The quantity of  $b^2 - 4ac$  is called the discriminant of the quadratic equation  $ax^2 + bx + c = 0$ .

### ❖ Nature of the Roots

In the quadratic equation  $ax^2 + bx + c = 0, a \neq 0$ ,

- if  $b^2 - 4ac > 0$ , the roots are real & unequal.
  - (i) if  $a, b, c \in Q$  and  $b^2 - 4ac =$  a square number, the roots are rational & unequal.
  - (ii) if  $a, b, c \in Q$  and  $b^2 - 4ac \neq$  a square number, the roots are irrational & unequal.
- if  $b^2 - 4ac = 0$ , the roots are real & equal.
- if  $b^2 - 4ac < 0$ , the roots are not real & unequal.

Note: The roots of a quadratic equation  $ax^2 + bx + c = 0$  are real if  $b^2 - 4ac \geq 0$ .

### ❖ Relation between Roots and Coefficients

The two roots of the equation  $ax^2 + bx + c = 0$  are

$$\alpha = \frac{-b + \sqrt{b^2 - 4ac}}{2a} \text{ and } \beta = \frac{-b - \sqrt{b^2 - 4ac}}{2a}$$

(i)  $\alpha + \beta =$  sum of the roots

$$\begin{aligned} &= \frac{-b + \sqrt{b^2 - 4ac}}{2a} + \frac{-b - \sqrt{b^2 - 4ac}}{2a} \\ &= \frac{-b + \sqrt{b^2 - 4ac} - b - \sqrt{b^2 - 4ac}}{2a} \\ &= \frac{-2b}{2a} \\ &= \frac{-b}{a} \\ &= \frac{-\text{coefficient of } x}{\text{coefficient of } x^2} \end{aligned}$$

(ii)  $\alpha \cdot \beta =$  Product of the roots

$$\begin{aligned} &= \frac{-b + \sqrt{b^2 - 4ac}}{2a} \times \frac{-b - \sqrt{b^2 - 4ac}}{2a} \\ &= \frac{(-b)^2 - (\sqrt{b^2 - 4ac})^2}{4a^2} \\ &= \frac{b^2 - b^2 + 4ac}{4a^2} \\ &= \frac{c}{a} \\ &= \frac{\text{constant term}}{\text{coefficient of } x^2} \end{aligned}$$



### ❖ Important Deductions

In the Quadratic Equation  $ax^2 + bx + c = 0$ ,  $a \neq 0$ ,

- if  $b = 0$ , the roots equal in magnitude but opposite in signs.
- if  $c = 0$ , the roots are 0 and  $-\frac{b}{a}$ .
- if  $a = c$ , the roots are reciprocal of each other.
- if  $a + b + c = 0$ , the roots are 1 and  $\frac{c}{a}$ .

### ❖ Formation of Quadratic Equation when the roots are given

Let  $ax^2 + bx + c = 0$  be the required equation whose roots are  $\alpha$  and  $\beta$ .

Now,  $ax^2 + bx + c = 0$

$$\Rightarrow x^2 - \left(-\frac{b}{a}\right)x + \frac{c}{a} = 0$$

$$\Rightarrow x^2 - (\alpha + \beta)x + \alpha\beta = 0$$

i. e.  $x^2 - (\text{sum of the roots})x + \text{product of the roots} = 0$

\*\*\*\*\*

